Subject: sky is falling, again ?
Posted by natha on Wed, 16 Mar 2011 13:52:04 GMT

View Forum Message <> Reply to Message

Hi folks,

I'm converting julian dates to text, using the calendar format. So,
for example:
time_text=2455636.937500d

PRINT, STRING(time_text,FORMAT='(C(CDI2.2,"/",CMOI2.2,"/",CYI,"
" CHI2.2,":",CMI2.2)))

CALDAT, time_text, mo, dd, yy, hh, mm
PRINT, STRTRIM(dd,2)+"/"+STRTRIM(mo,2)+"/"+STRTRIM(yy,2)+"
"+STRTRIM(hh,2)+":"+STRTRIM(mm,?2)

16/03/2011 10:29
16/03/2011 10:30

Lol ! There is 1 minute difference !!!! Do you know why ?
Thank you in advance,
nata
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